i #H £, i

W RO KRR L 7= & X |

________

________

G112 = 2

®224 = 2+

________

________

@250 = 2 x 5"

304 = 2

©336 = 2

405 = 3

________

@441 = 3-'x 7+

I
N
X

12 544

@576 = 2% 37

@608 = 257

\S}
X....
o1
X

1) 680 =

________

®735= 3 x 5 x 7-°

@775 = 5%

®800 = 2% 5

©882 = 2 x 3“7x 74

@952 = 2% 7 x|

________

/20




i %E%ﬁ

W R DR RN

________

________

________

________

®112= 2% 7 |

®224 = 2% 7 |

@250 = 2 x 5"

®304 = 2% 19 |

@336 = 2% 3 x|

©405 = 3% 5 |

%Lﬁk?i

________

441

12 544

3576 =

i 608 =

1) 680 =

16735 =

w775 =

18800 =

19 882 =

20952 =

3 [l X 7 [l

51 reeo
277x1 19
R S
277X 5 X117

________

________

/20




